Mandurah Baptist College Secondary



YEAR TWELVE

BE STRONG & COURAGEOUS

PLEASE ORDER ONLINE AT www.campion.com.au using "SBYF" as your code BEFORE Friday 14th December 2018 OR

SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW Orders can still be placed past the 'return date' but it may incur a late fee. **ALL ORDERS MUST BE PREPAID**

PREPACKAGED DELIVERY SERVICE

TUDENT GIVEN NAME(s)	STUDENT SURNAME
DDRESS	
UBURB	STATE POST CODE
ARENT/GUARDIAN MOBILE/PH	ONE NUMBER
REQUIRED CHOOL SUPPLIED STUDENT MAIL ADDRESS	
CREDIT	CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY Card No.:
Expiry Date:	Cardholder's Name:
ignature:	
	▼ TEAR OFF SLIP - PLEASE RETAIN ▼

Your home delivery order will be dispatched for \$8 the week ending 18th January 2019 if placed on or before the cut-off date of Friday 14th December 2018.

Home Delivery orders can still be placed after the cut-off date but a late fee of up to \$17.50 will be charged.

Please note: Any orders being returned to Campion by mail must be received two days prior to the cut off date at the top of this page to ensure your order does not incur a late fee.



How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
 - 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
 - 4. Select your school and enter in your 4-digit Resource List code, which is on the front page of this resource list.
 - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
 - 6. Enter in your delivery option and complete details.
 - 7. Review and complete purchase.
 - 8. Once completed an order confirmation will be sent to your email address.
 - 9. If you have purchased any ebooks you will receive a seperate activation email. You will need to follow the instructions within the email to complete the set up of each product.
- Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.**

'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Malaga - 751 Marshall Road, Malaga (next to Stratco)



Willetton - 28/32 Kembla Way, Willetton



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours (21st Jan 2019 - 8th Feb 2019) Saturdays 8:30am - 2:00pm(Jan 19th, Jan 26th & Feb 2nd 2019)

Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2019 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

Ø

Unit

Total

Item

Item Qty Office Use Description No. Reqd Reqd Price \$ Amount \$ **SCHOOL RESOURCES** Please note that there are digital products (eCoded) on this Resource List. These items can only be ordered online, and cannot be refunded. These products are single user licences and are only valid for 1 year (unless otherwise stated). **ADDITIONAL CHARGES - YEAR 12** The curriculum and miscellaneous items listed below will be added to your Annual Fee Statement. For items relating to particular courses, these will only be added if you are enrolled in that course. The following curriculum items will be sourced by the College and are, in this manner, able to be provided at a more competitive rate than if purchased through other providers -Drama - Drama Levy / \$50 (if applicable) Music - Music Levy / \$50 (if applicable) Sports Coaching Cert II - Textbook / \$40 (if applicable) The following miscellaneous items are also required -Yearbook (1 per family) / \$30 Student Diary (1 per student) / \$12 ICT Levy / \$75 The following Camp fee will also be added to your Annual Fee Statement if applicable-Outdoor Education / \$220 **STATIONERY** No liquid paper please. **SPECIFIED ITEMS** These items have been specified for use by several subjects and are required. They can be sourced from other providers if preferred. P56414 Ruler 300mm Plastic Clear 0.75 1 1 0.75 P50271 Pencil (HB) Goldfaber 2 2 0.55 1.10 P55522 3 Eraser Plastic Pencil Economy in sleeve 1 0.70 0.70 P56243 Sharpener Pencil Metal Double Hole (HQ) 4 1 1 10 1 10 P52082 USB Pocket Flash Drive 16GB - NO RETURNS 13.95 13.95 **DISCRETIONARY ITEMS** These items are commonly used and can be purchased at parents' discretion. They can be sourced from other providers if preferred. P51353 Glue Stick Artline Purple 40gm 6 1 2.60 2.60 P56098 Pen Ballpoint Bic Cristal Blue 7 2 0.60 1.20 P56101 8 Pen Ballpoint Bic Cristal Red 2 0.60 1.20 P50466 Correction Tape Marbig 9 4.50 4 50 P50113 Markers Faber Project Wallet 12 Assorted 10 3.15 3.15 P50613 Highlighter Marker - Pkt 4 Assorted 11 1 7.70 7.70 P56257 Pencils Coloured Colourush Pack of 24's 12 8.75 8.75 P58507 Scissors 155mm Plastic Handle 2.95 13 2.95

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ACCOUNTING ATAR					
P13717	Nelson Accounting & Finance for WA 3A-3B [Krachler et al]	14		1	76.95	76.95
P05770	WA ATAR Course Study Guide Accounting & Finance Year 12 [Kania &	15		1	49.00	49.00
1 00//0	Criddle]	15	ш	'	49.00	49.00
P52231	Calculator Jastek Scientific	16		1	26.95	26.95
	APPLIED INFORMATION TECHNOLOGY ATAR No specific items required.					
	BIOLOGY ATAR					
P05771	WA ATAR Course Study Guide Biology Year 12 [Walster, Peter]	17		1	54.00	54.00
P15970	Creelman Exam Questions Biological Sciences ATAR 3&4 2019 [Peter Walster]	18		1	45.00	45.00
P51933	Calculator Abacus Scientific SXIIMATRIXN (new model)	19		1	22.95	22.95
	CAREER & ENTERPRISE GENERAL					
P50281	Document Envelope A4 PP With Press Stud Clear	20		2	1.25	2.50
P55097	Lever Arch File A4 Board	21		1	4.70	4.70
P55709	Index Dividers A4 5 Tab (Board)	22		1	1.00	1.00
P56329	Pocket Plastic 11 Hole A4 Box 100	23		1	6.95	6.95
	CERTIFICATE II BUSINESS					
	Text to be advised.					
P55097	Lever Arch File A4 Board	24		1	4.70	4.70
P56329	Pocket Plastic 11 Hole A4 Box 100	25		1	6.95	6.95
P55707	Dividers PVC A4 10 Tab Multi/Coloured	26		1	3.45	3.45
	CERTIFICATE II SPORT AND RECREATION Text to be advised. Purchased through the College. Cost approx \$40.					
	CERTIFICATE II VISUAL ARTS (PHOTOGRAPHY) Students are required to provide an SD Card (16gig minimum), along with an 8GB USB for storage purposes.					
P56679	Visual Art Diary A4 110gsm 100 Sheet	27		1	10.95	10.95
P52001	Pencil (2B) Goldfaber	28		1	0.55	0.55
P56081	Marker Artline #200 Black 0.4mm	29		1	3.60	3.60
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	30		1	9.20	9.20
	CHEMISTRY ATAR					
	Please Choose ONE of the Options Below		Choose One			
P00469	Option 1: Print & Digital Pearson Chemistry WA 12 Student Book with Reader+ - OR -	31		1	85.95	85.95
E00718	Option 2: Digital Only Digital Pearson Chemistry WA 12 Reader+ (Access Code) Can only order online at www.campion.com.au – no refunds	32	ORDER ONLINE	1	51.95	51.95
P05772	WA ATAR Course Study Guide Chemistry Year 12 [Lucarelli et al]	33		1	54.00	54.00
P15975	Creelman Exam Questions Chemistry ATAR Course 3&4 2019 [Lyndon Smith]	34		1	45.00	45.00
. 10070	(New Edition for 2019)	J 4	ш	1	45.00	45.00
P51933	Calculator Abacus Scientific SXIIMATRIXN (new model)	35		1	22.95	22.95

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	CHILDREN FAMILY & COMMUNITY GENERAL					
D=0.40.4	Text to be advised.					
P50434	Document Wallet Polydoc Foolscap Summer Colours	36		1	2.35	2.35
P55554	Exercise Book A4 8mm 128 Page	37		1	1.80	1.80
	DESIGN GRAPHICS ATAR					
P50440	Pen Fineliner Stabilo Point 188 Black	38		1	2.45	2.45
P56327	Pocket Plastic 11 Hole A3 Pkt 5	39		10	4.30	43.00
P52001	Pencil (2B) Goldfaber	40		1	0.55	0.55
P52013	Pencil (4B) Goldfaber	41		1	0.55	0.55
P56112	Marker Artline #220 Black 0.2mm	42		1	3.60	3.60
P56081	Marker Artline #200 Black 0.4mm	43		1	3.60	3.60
P56115	Marker Artline #210 Black 0.6mm	44		1	3.60	3.60
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	45		1	8.70	8.70
P58518	Pencil Mechanical Pacer 300	46		1	3.95	3.95
P58539	Binder A3 3 Ring 38mm PVC Black	47		1	17.50	17.50
	DESIGN GRAPHICS GENERAL					
	External hard drive - essential.					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	48		1	9.20	9.20
P56081	Marker Artline #200 Black 0.4mm	49		1	3.60	3.60
P56112	Marker Artline #220 Black 0.2mm	50		1	3.60	3.60
P56115	Marker Artline #210 Black 0.6mm	51		1	3.60	3.60
P52001	Pencil (2B) Goldfaber	52		1	0.55	0.55
P58518	Pencil Mechanical Pacer 300	53		2	3.95	7.90
	DRAMA ATAR					
	Black dress pants (no tights, leggings or jeans)					
	Black pants to be worn during productions, rehearsals and					
	practical examinations.					
	1 x Arts Production shirt (\$40) to be purchased from the					
	College Admin if desired for after school rehearsals and					
	productions in year 12.					
	1 x \$50 Theatre ticket.					
P56684	Visual Art Diary 11x14 110gsm 60 Sheet/120 Page Black Cover	54		2	9.55	19.10
	DRAMA GENERAL					
	Black dress pants (no tights, leggings or jeans)					
	Black pants to be worn during productions, rehearsals and					
	practical examinations.					
	1 x Arts Production shirt (\$40) to be purchased from the					
	College Admin if desired for after school rehearsals and					
	productions in year 12.					
DECC04	1 x \$50 Theatre ticket.			0	0.55	40.40
P56684	Visual Art Diary 11x14 110gsm 60 Sheet/120 Page Black Cover	55		2	9.55	19.10
	Highly desirable to use one folio per semester.					
	ECONOMICS ATAR					
P16088	WA ATAR Investigating Macroeconomics 5E	56		1	82.00	82.00
	(New Edition for 2019)		_			
P15979	Creelman Exam Questions Economics ATAR Course 3&4 2019 [Andrew	57		1	45.00	45.00
	Tibbitt]		_			
	(New Edition for 2019)					
	(due approx. March)					
DEEOGO	(optional)		_	4	0.00	0.00
P55968	Notebook Side Opening A4 240 pages Spirax #595A	58		1	6.60	6.60

07-11-2018 14:51:15 836 YR 12 Page 5 WHITE @ Denotes Price G.S.T. Exempt

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	ENGINEEDING ATAB & GENEBAL					
	ENGINEERING ATAR & GENERAL No specific items required.					
D00700	ENGLISH ATAR				04.00	04.00
P03762 P12720	Tall Man (P/B) [Hooper]	59 60		1	24.99	24.99
P16139	Crucible The: Methuen Student Editions [Arthur Miller and Susan Abbotson] Good Answers English 2019 (Due Term 2)	60 61		1 1	22.99 28.00	22.99 28.00
1 10100	(New Edition for 2019)	01		ļ	20.00	20.00
	(The Good Answers is available in Term 2 and will be					
	delivered in bulk to the school for distribution)					
P50196	Highlighter Briteliner Grip Pkt 5 Assorted	62		1	8.75	8.75
P55551	Exercise Book A4 8mm 96 Page	63		1	1.35	1.35
P55442	Display Book A4 20 Pocket Black Refillable	64		2	1.95	3.90
P55949	Notebook A4 120 Page Colourhide With 4 Pockets	65		2	6.20	12.40
	ENGLISH FOUNDATION					
P55949	Notebook A4 120 Page Colourhide With 4 Pockets	66		1	6.20	6.20
P55551	Exercise Book A4 8mm 96 Page	67		1	1.35	1.35
P55442	Display Book A4 20 Pocket Black Refillable	68		1	1.95	1.95
P50196	Highlighter Briteliner Grip Pkt 5 Assorted	69		1	8.75	8.75
	ENGLISH GENERAL					
P03786	Animal Farm (Penguin Student edn) [Orwell]	70		1	14.95	14.95
P50196	Highlighter Briteliner Grip Pkt 5 Assorted	71		1	8.75	8.75
P55442	Display Book A4 20 Pocket Black Refillable	72		2	1.95	3.90
P55949	Notebook A4 120 Page Colourhide With 4 Pockets	73		2	6.20	12.40
	ENGLISH LITERATURE ATAR					
P55949	Notebook A4 120 Page Colourhide With 4 Pockets	74		2	6.20	12.40
P03980	Sorry (P/B) (2nd edn) [Gail Jones]	75		1	19.99	19.99
P03500	Box The Pony (Play edn) [Purcell & Rankin]	76		1	22.99	22.99
P02187 P02939	Othello Shakespeare (Parallel) 3E [Shakespeare] Handmaids Tale The (Vintage) (P/B) [Margaret Atwood]	77 70		1	23.95	23.95
P10135	Selected Poems: TS Eliot (Faber edn) [T.S. Eliot]	78 79		1 1	19.99 24.99	19.99 24.99
P55442	Display Book A4 20 Pocket Black Refillable	80		2	1.95	3.90
P16152	Good Answers Literature 2019 (Due Term 2)	81	ä	1	28.00	28.00
	(New Edition for 2019)	•	_	•		
	(The Good Answers is available in Term 2 and will be					
	delivered in bulk to the school for distribution).					
	FOOD SCIENCE & TECHNOLOGY ATAR					
	Text to be advised.					
P50281	Document Envelope A4 PP With Press Stud Clear	82		1	1.25	1.25
P55110	Binder A4 2D Ring PVC 25mm Black	83		1	4.80	4.80
P55554	Exercise Book A4 8mm 128 Page	84	_	1	1.80	1.80
	FRENCH ATAR					
P16664	Collins French Dictionary and Grammar in Colour 8E [Collins]	85		1	29.99	29.99
	(New Edition for 2019)		_			
	(Retain from previous year)					
P50547	Earphones Ear Bud With In Ear Drivers	86		1	13.50	13.50
P55554	Exercise Book A4 8mm 128 Page	87		2	1.80	3.60
P55442	Display Book A4 20 Pocket Black Refillable	88		2	1.95	3.90
P55710	Dividers PVC A4 5 Tab Multi/Coloured	89		1	2.00	2.00
P55097	Lever Arch File A4 Board	90		1	4.70	4.70

		Item	√ Item	Qty	Unit	Total
Office Use	Description	No.	Reqd		Price \$	Amount \$
	GEOGRAPHY ATAR					
P11642	WA ATAR Geography Units 3&4 (2nd edition) [Anna Griffin et al]	91		1	64.95	64.95
P15985	Creelman Exam Questions Geography ATAR Course 3&4 2019 [Doug Wilson]	92		1	45.00	45.00
	(New Edition for 2019)					
	(due approx. March)					
P55968	Notebook Side Opening A4 240 pages Spirax #595A	93		1	6.60	6.60
	GEOGRAPHY GENERAL					
P55949	Notebook A4 120 Page Colourhide With 4 Pockets	94		1	6.20	6.20
	HEALTH STUDIES ATAR					
P07858	Health Studies: Year 12 ATAR [Emily Lockhart]	95		1	60.00	60.00
			_			
D0.4000	HUMAN BIOLOGY ATAR					
P04628	WA ATAR Human Perspectives Units 3&4 (Print & Digital) (7E) [Newton & Joyce]	96		1	80.95	80.95
P15989	Creelman Exam Questions Human Biological Science ATAR 2019 [Peter Walster]	97		1	45.00	45.00
	(New Edition for 2019)					
	(due approx. March)					
P51933	Calculator Abacus Scientific SXIIMATRIXN (new model)	98		1	22.95	22.95
	INDONESIAN GENERAL					
P50671	Display Book A4 20 Pocket Clear Cover Green Refillable	99		1	2.25	2.25
P55551	Exercise Book A4 8mm 96 Page	100		1	1.35	1.35
P50547	Earphones Ear Bud With In Ear Drivers	101		1	13.50	13.50
	INTEGRATED SCIENCE					
P55554	Exercise Book A4 8mm 128 Page	102		2	1.80	3.60
P55442	Display Book A4 20 Pocket Black Refillable	103		2	1.95	3.90
P51933	Calculator Abacus Scientific SXIIMATRIXN (new model)	104		1	22.95	22.95
	MATERIALS DESIGN & TECHNOLOGY (WOOD) GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	105		1	1.95	1.95
. 551.12	Display Book 74-20 Fooket Black Remiable	100			1.00	1.00
	MATHEMATICS APPLICATIONS					
P00713	WA ATAR Maths Applications Unit 3 (Print & Dig)(Rev. format) [Sadler]	106		1	39.95	39.95
P00728	WA ATAR Maths Applications Unit 4 (Print & Dig)(Rev. format) [Sadler]	107		1	39.95	39.95
E20024	Digital ReviseOnline ATAR Yr 12 Maths Applicat (Access Code)	108	ORDER ONLINE	Ξ 1	44.00	44.00
	Can only order online at www.campion.com.au – no refunds					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	109		1	239.00	239.00
	Optional, but recommended					
P15994	Creelman Exam Questions Mathematics Applications ATAR 2019 [Shanahan Mooney]	110		1	45.00	45.00
	(New Edition for 2019)					
	(due approx. March)					
	MATHEMATICS ESSENTIALS					
P05723	Mathematics Essential Units 3 & 4 Year 12 WA [Ellery et al]	111		1	55.00	55.00
	Mathematics Electronic Text (Mathspace) /\$20 - access		_			
	arranged through the College; will be added to fees.					
P51933	Calculator Abacus Scientific SXIIMATRIXN (new model)	112		1	22.95	22.95
			_			

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS METHODS					
P05848	MATHEMATICS METHODS	110		4	00.00	00.00
P15999	WA ATAR Mathematics Methods Year 12 Course Textbook [O T Lee]	113		1	80.00	80.00
F 13999	Creelman Exam Questions Mathematics Methods ATAR 3&4 2019 [Tim Oates]	1114		1	45.00	45.00
	(New Edition for 2019) (due approx. March)					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	115		1	239.00	239.00
	·	110		•	200.00	200.00
	MATHEMATICS SPECIALIST ATAR		_			
P05850	WA ATAR Mathematics Specialist Year 12 Course Textbook [O T Lee]	116	<u> </u>	1	80.00	80.00
E20028	Digital ReviseOnline ATARYr12 Maths Specialist (Access Code)	117	ORDER ONLINE	Ξ 1	44.00	44.00
	Can only order online at www.campion.com.au – no refunds					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	118		1	239.00	239.00
	Optional, but recommended		_			
P16004	Creelman Exam Questions Mathematics Specialist ATAR 3&4 2019 [Tim Oates]	119		1	45.00	45.00
	(New Edition for 2019)					
	(due approx. March)					
	MEDIA DECENICATION & ANALYSIS ATAR					
P00902	MEDIA PRODUCTION & ANALYSIS ATAR	100		4	60.00	60.00
F00902	Film: A Critical Introduction [Pramaggiore & Wallis]	120		1	60.00	60.00
P52082	Students will also require a 64gig SD card for productions.	101		2	12.05	27.00
	USB Pocket Flash Drive 16GB - NO RETURNS	121		2	13.95	27.90
P55442 P50281	Display Book A4 20 Pocket Black Refillable	122		2	1.95	3.90
	Document Envelope A4 PP With Press Stud Clear	123		2	1.25	2.50
P55554	Exercise Book A4 8mm 128 Page	124		2	1.80	3.60
	MODERN HISTORY ATAR					
P04904	Experience of Nationhood NSW Stg 5 (Print/eBk)(6E) [Mason]	125		1	85.95	85.95
P04623	Nelson Modern History AC: Russia & the Soviet Union [Ken Webb]	126		1	62.95	62.95
P55968	Notebook Side Opening A4 240 pages Spirax #595A	127		1	6.60	6.60
	MUSIC ATAR					
	See additional charges section at start of book list.					
	MUSIC GENERAL					
	See additional charges section at start of book list.					
	OUTDOOR EDUCATION GENERAL					
P07110	WA Outdoor Education: A Resource for Year 12 General [Froude and Zaurs]	128		1	64.95	64.95
			_			
E01100	PE STUDIES ATAR					
E01136	Digital Phys Ed Studies ATAR Units 3&4 Stud Txt (MyConnect)	129	ORDER ONLINE	= 1	49.99	49.99
	Can only order online at www.campion.com.au – no refunds					
	PHYSICS ATAR					
P00528	Pearson Physics WA 12 Student Book with Reader+	130		1	85.95	85.95
E00338	Digital Step Up In Physics Units 3&4 (Access Code)	131	ORDER ONLINE	Ξ 1	49.95	49.95
	Can only order online at www.campion.com.au – no refunds					
P06275	WA ATAR Exploring Physics Year 12 [Przywolnik]	132		1	35.20	35.20
P51933	Calculator Abacus Scientific SXIIMATRIXN (new model)	133		1	22.95	22.95

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	DOLUTION O. LAW ATAB					
D.10057	POLITICS & LAW ATAR					
P12257	WACE Politics & Law ATAR 3&4: Power, Accountability & Rights	134		1	75.00	75.00
P55968	Notebook Side Opening A4 240 pages Spirax #595A	135		1	6.60	6.60
P16019	Creelman Exam Questions Politics and Law ATAR 3&4 2019 [Lindy Precious]	136		1	45.00	45.00
	(New Edition for 2019)					
	(due approx. March)					
P15486	Australian Constitution - Pocket (2017 edn)	137		1	6.95	6.95
	(Retained from Year 11)					
	TECHNICAL GRAPHICS GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	138		1	1.95	1.95
	VISUAL ARTS ATAR					
P50440	Pen Fineliner Stabilo Point 188 Black	139		1	2.45	2.45
P56327	Pocket Plastic 11 Hole A3 Pkt 5	140		10	4.30	43.00
P52001	Pencil (2B) Goldfaber	141		1	0.55	0.55
P52014	Pencil (6B) Goldfaber	142		1	0.55	0.55
P56112	Marker Artline #220 Black 0.2mm	143		1	3.60	3.60
P56081	Marker Artline #200 Black 0.4mm	144		1	3.60	3.60
P56115	Marker Artline #210 Black 0.6mm	145		1	3.60	3.60
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	146		1	8.70	8.70
P58518	Pencil Mechanical Pacer 300	147		1	3.95	3.95
P58539	Binder A3 3 Ring 38mm PVC Black	148	$\overline{\Box}$	1	17.50	17.50
	•		_			

Number of Boxes ticked:	
Delivery, packaging & handling	\$8.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 07/11/18)	\$

[☐] Yes, please email me with information on current Year 11 and 12 Study Guides.